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Guess Paper – 2012
Class – XII
Subject – Chemistry
Inorganic NCERT – Based Test

MM = 45                                                                      
                                      Phase - I 

1. (A) What is the role of depressant in froth flotation process?

    (B) Separate out PbS and ZnS giving chemical reaction involved?

    (C) Name the depressant used in (B).

2. (A) Out of C and CO, which is better reducing agent at 673 K and why?

    (B) State role of silica in metallurgy of copper giving chemical reaction involved? (1+2)

3. (A) Describe method for the refining of nickel giving temperature details?

    (B) How is leaching carried out in case of low grade Cu ores? (1.5 each)

4. Complete the reaction:

   (A) XeF6 + H2O →                     (B) SO2 + MnO4- + H2O →                  (C) P4 + NaOH + H2O →

5. Draw resonating structure for (A) NO2 (B) N2O5 

   (C) Draw and write geometry for (i) XeF2    (ii) XeO3
6. (A) Why noble gases have larger atomic radii?

    (B) Out of trihalides and pentahalides which are more covalent and why?

    (C) Why BiH3 is strongest reducing agent among gp. – 15?

7. Arrange the following in the increasing order of property indicated giving reasons:

   (A) F2, Cl2, Br2, I2 – bond dissociation enthalpy (B) HF, HCl, HBr, HI – acidic strength

   (C) NH3, PH3, AsH3, SbH3, BiH3 – Basic strength

8. (A) Why does reactivity of nitrogen differ from phosphorus?

    (B) Illustrate how Cu metal can give different product on reaction with HNO3 ?

    (C) Give disproportionate rxn for H3PO3 indicating change in oxidation state clearly for P?

9. (A) Write the chemical rxns. involved in the manufacture of H2SO4? (each rxn ¼ )

    (B) Give reason why fluorine form one oxoacid HOF only? (3/4)

    (C) Write two uses of ClO2? (1)                           (D)Why halogens are coloured? (1/2)

 10. (A) Which d- block elements do not regarded transition elements giving reason also.

       (B) Give reason(s) the enthalpies of atomisation of the transition elements are high.

       (C) Transition elements and their compounds act good catalyst.

11. Write the chemistry involved for the preparation of K2Cr2O7 from iron chromite?

12. Complete the rxn: 
     (A) 2 MnO4- + 10 SO2 + 5 O2 + 4 H2O →

     (B) 2 MnO4- + 5C2O4 + 16 H+ →                            (C) Cr2O72- + 6 I- + 14 H+ →

13. (A) Calculate no. of unpaired electrons in gaseous ions Mn3+, Cr3+, V3+ .which is most stable in aqueous solution?

      (B) Actinoid contraction is greater from element to element than lanthanoid contraction.

14. (A) Write IUPAC name for (i) [Co(NO2)(NH3)5]2+ (ii) K2[Ni(CN)4]

      (B) How many geometrical isomers are possible in [Cr(C2O4)3]3-
      (C) Aqueous CuSO4 gives bright green solution with aq. KCl. Explain giving chemical rxn.?

15. Give the hybridisation, geometry and magnetic criteria for (A) [Fe(CN)6]4-  (B) [CoF6]3-
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         Phase - II 

1. (A) What is coordination number of atoms in ccp & bcc structure?

    (B) If radius of octahedral void is r and radius of the atom in close packing is R, derive relation b/w r & R. [1+2]

2. Al crystallize in ccp structure. Its metallic radius is 125 pm.

  (A) Calculate length of side of unit cell?

  (B) How many number of unit cells are there in 1 cm3 of Al? [1+2]

3. Calculate mass of urea required in making2.5 kg of 0.25 molal aqueous solution.

4. The vapour pressures of pure liquids A & B are 450 and 700 mm Hg respectively, at 350 K. Find out the composition of the liquid mixture if total vapour pressure is 600 mm Hg. Also find the composition in vapour phase.

5. (A) At 300 K, 36 gm of glucose present in 1 Lt. of its solution has an osmotic pressure of 4.98 bar. If the osmotic pressure of the solution is 1.52 barat the same temperature, what would be its concentration?

(B) Identify which is partially soluble, insoluble or highly soluble in water

    (i) phenol                                 (ii) chloroform                             (iii) ethylene glycol

6. A 5 % solution (by mass) of cane sugar in water has freezing point of 271 K. Calculate the freezing point of 5 % glucose in water if freezing point of pure water is 273.15 K.

7. (A) The resistance of conductivity cell  containing 0.001 M KCl solution at 298 K is 1500 ohm. What is cell constant if conductivity of 0.001 M KCl solution at 298 K is 0.146 × 10 – 3 S cm – 1 .
(B) How much charge in C is required for the reduction of  1 mol MnO4-  to Mn2+
8. (A) Calculate the potential of hydrogen electrode in contact with solution whose pH is 10.

    (B) The cell in the reaction : 2 Fe3+ + 2 I - → 2 Fe2+ + I2 has E0cell = 0.236 V at 298 K. Calculate standard gibb’s free energy change. (given F = 96487 C)

9. The rate of the chemical reaction doubles for an increase of  10 K in absolute temperature from 298 K. Calculate activation energy in Kj/mol.

10. The half life of radioactive decay of  14C is 5730 yr. An archaeological artefact containing wood had only 80 % of the 14C found in living tree. Estimate the age of the sample.

11. (A) NH3 adsorbed to great extent as compare to N2 gas. Why

      (B) Describe Freundlich adsorption isotherm ?

      (C) Pumice stone is ____ type of colloid.[1/4, 1, ¼, 1]

      (D) Explain, what is observed when NaCl is added to hydrated ferric oxide sol.

12. (A) Name a substance used both as antiseptic and disinfectant.

      (B) Define tranquilizer giving at least two examples [1/2, (1+1)] 
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